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B4 2: Y 3|2 Ry =4Q, R = 6Q, Re = 802 A 3|22 W§slA 2.
Zo0] 2: 3 S=4%6+6%x8+8x4 =104

104 104 10
Rap = % =130, Rpc = % =261, Rca= 5 ~ 17.33Q2

34 2: A 92 ZF A = (Y A AA & 5)/ds Y A%

'a' 2: RAB = 13Q,RBC = 2GQ,RCA ~ 17.33Q2

BA| 3: A 32 Rap = 12, Rpo = 18, Roa = 24 Q& Y& W5t 5, Rpo} 913 D Ry = 6Q 17 A] 77
AL P Q.

Zo] 3: AoY W3k Ry =533, Rp =4, Ro = 8 R A8 Ryx: Ryt = 4 + 6 = 10Q
S 3: A-Y W 5 2 it

‘a’ 3: Rtotal =102

BA 4:Y 3]2 Ra =5,Rp =10, Rc = 15 QoA Ra9t R WE, Re A HA A& FHA L.
E0] 4: Ryuraier = 5 10/(5 + 10) = 3.33 Ryorar = 3.33 + 15 = 18.330Q
A 4: HE AL & A 4t

& 4: R ~ 18.33Q

BA 5: A 32 Rap =6,Rpc =9,Rca =12 Q2 YR W3 & Ry HE Rx =3Q, Rp Z|E Ry =4Q,
Re 92 Ry — 50 A7) 432 To1A2.

E9] 5: A-Y: Ry = 2.67,Rp = 2,Rc =4 Ra || Rx =144 Rg+ Ry = 6 Rc + Rz = 9 Riotar =
1.44 + 6 + 9 = 16.449
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2 5: Riotar ~ 16.449

24 6: A 3]% Rap =20, Rpc =30, Roa =40 Q2 Y= Hgt % Ry 218 Ry =5Q, Rp & Ry = 10Q,
R A8 Rz = 15Q 1A A¢E FoHA L.

E0] 6: A—=Y: Ry =889, Rp = 6.67,Rc = 13.33 R4 + Ry = 13.89 Rp | Ry =4.0 Rc + Rz = 28.33
Riotar = 13.89 + 4 + 28.33 = 46.220)

A 6: A-Y HZE & HH/AY ALt

=/ A

‘a’ 6: Rtotal ~ 46.222

A 7:Y 32 Ry =3,Rp =6,Rc =9 QoA Ra ¥E Rp, Re g, 5 Rx = 12Q g AZ HA|
S oA L.

EO| T: Rap =3%6/(34+6) =2 Rycries =2+ 9 =11 Rippar = 11 % 12/(11 +12) = 5.71Q
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‘a’ 7: Rtotal ~ 5.71Q

EA 8: A 32 Rap =8, Rpc =12,Rca =16 Q& YZ HE §, Ry A Rx =4Q, Rp ¥ Ry = 6Q
A A& FoHA L.

Zo|8:A=Y: Ry =4,Rp =24,Rc =533 Ra+Rx =8 Rp || Ry = 1.71 Rypta1 = 8+1.7T1+Rc = 14.04Q
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‘a’ 8: Rtotal ~ 14.04Q

A 9: A 32 Rap =5,Rpc = 10,Rca = 15 QS Y2 WS, Rp ¥ Rx =5Q, Ro 2¥ Ry = 10Q
AA A& AotA L.

Zo| 9: A»Y: Ry = 1.875,Rp = 2.5,Rc = 3.33 Rp | Rx = 2.5 5/(25+5) = 1.667 Ryotal =
Ry + 1.667 + Re + Ry = 1.875 + 1.667 + 3.33 + 10 ~ 16.8702
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‘a’ 9: Rtotal ~ 16.87Q2

EA 10: Y 3|2 Ry = 2,Rp = 4,Rc = 6 QoA Ry ¥E Rx = 3Q, Rp ¥ Ry = 5Q, Rc ¥
Rz = 7Q A A3 F5HA L.

Zo] 10: Ry | Rx = 2#3/(2+3) =12 R+ Ry =445 =9 Re + Ry = 6+ 7 = 13 Rotal =
1249+ 13 = 23.20
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EA 11: A 32 Rap = 14, Rpc = 21, RCA:QSQO Y HE 2 Ry A Ry =7Q, Rp Y Ry = 14Q,
Re AdE R, = 21Q AH| HFS F5HAL

Zo| 11: A»Y: Ry =5.6,Rp =4.9,Rc = 84 Ry + Rx = 12.6 Rp || Ry = 4.9 % 14/(4.9 + 14) ~ 3.64
Re + Rz = 29.4 Ryotal = 12.6 + 3.64 + 29.4 = 45.649)

A 11: A-Y W3 & HH 2 ALt
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BA 12: Y 82 Ry = T,Rp = 5,Re = 3 QollA] Ry W& Ry = 7Q, Rp Ad Ry = 5Q, R 44
Rz = 3Q A4 A< 1542

E0|12: Ry || Rx =7xT7/(7+7) =35 Rg+ Ry =5+5 =10 Rc+ Rz = 6 Riotal = 3.5+10+6 = 19.5Q
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BA 13: A 32 Ry =9,Rpc =12, Rca =15 Q& Y H3 & Rp A Rx = 6Q, Rc HE Ry = 9Q
AA| A S oA L.

Zo] 13: A»Y: Ry = 3.75,Rp = 4, Rc = 5 Rz + Rx = 10 Rc | Ry = 5% 9/(5+9) = 3.125
Riotal = R4 + 10 + 3.125 = 16.875Q
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la' 13: Rtatal ~ 16.8802

A 14: Y 3|2 Ry = 6,Rp = 9,Rc = 12 QA Ry A& Rx = 3Q, Rp HE Ry = 6Q, Rc ¥3
Rz =4Q A7 A= F5HA2

E0] 14: R4+Rx =9 Rp H Ry = 9*6/(9+6) = 3.6 R¢ H Rz = 12*4/(12+4) =3 Riotal =9+3.6+3 =
15.6Q2

A4 14: 4/ £ 72

‘a’ 14: Rtotal = 15.6Q2

A 15: A 3|2 Rap = 11, Rpc = 13, RcAfl’?QO Y HE S Ry AE Ry =5Q, R HE Ry = 10Q,
Re A Ry =10 A7) A& 75440

Zo] 15: A»Y: Ry ~ 447, Rp ~ 4.03, Rc ~ 5.15 Ry+Rx = 9.47 Ry || Ry = 4.03x10/(4.03+10) ~ 2.87
Re + Rz =515+ 7 = 12.15 Ryotal = 9.47 + 2.87 + 12.15 = 24.49)
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‘a’ 15: Rtotal ~ 24.49Q

B4 16: Y 3|2 R4 = 5,Rp = 8,Re = 10 QollA] Ry ¥ Rx = 4Q, Rp A¥ Ry = 6Q, R A
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E0] 16: Ry | Rx =5%x4/(5+4) =222 Rg+ Ry =846 =14 Rc + Rz = 10+ 8 = 18 R;otal =

2.22 + 14 4+ 18 = 34.22Q2
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213 Ry = 397

e 16: Riprar =3
Rx = 7Qa Rp A&

BA 17: A 3|2 Rap =7,Rpc = 14,Rca =21 Q& Y H& 5 Ry
Rc B9 Rz = 6Q A4 AgE F5HA 2.
Zo] 17: A»Y: Ry = 3.5,Rp =4.67,Rc =7 Ra+ Rx = 10.5 Rp + Ry = 4.67+3 =767 Rc | Rz =

7%6/(7+6) = 3.23 Ryotal = 10.5 + 7.67 + 3.23 = 21.4Q

A 17: AY W © A2/ AL
‘a’ 17: Rtotal ~ 21.4Q
24 18: Y 3]= Ry = 6,Rp = 12, Rc = 18 Qo4 Ry ¥E Rx = 6Q, Rp ¥E Ry = 6Q, Rc AE
Ry = 90 87 A58 oA,
%ol 18: Ra || Rx = 6*6/(6-1—6) =3 Rp || Ry = 12*6/(12+6) =4 Ro+ Rz = 1849 = 27
Riotal = 3 + 4 + 27 = 340
A4 18: WL I 24
Rx =5Q, Rp A8 Ry = 10Q,

g

la- 18: Rtotal - 34Q
EA 19: A 3|2 Ryp =10, Rpc = 20, Reca =30 Q& Y }18+ 2, Ry

Re A" Rz =15Q 34 A& 714 L.
20] 19: A=Y: Ry = 6,Rp = 4,Rc = 12 Ry + Rx = 11 Rp + Ry = 14 Rc + Rz = 27 Ryotal =

11+ 14 4+ 27 = 5202
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g Ry = 6Q, Rc B2

‘a’ 19: Rtotal = 520
BA 20: Y 3|2 Ry = 3,Rp = 6,Rc = 9 QA Ry ¥ Ry = 3Q, Rp

Rz =9Q AA A& F5HA L.
E0] 20: Ry | Rx =3%3/3+3) =15 Rg+Ry =6+6=12Rc || Rz =9%9/(9+9) =45

Riotal = 1.5+ 12+ 4.5 =180
A4 20: YA G &A

‘a- 20: Rtotal = 180



